PIK: 714,55
Skala 1:100/100

Bl o 1STN= 1,28m2
Bl v PROU= 0,11m2
] nasyp = 1,98m2
B wykop = 0,34m2

P.P. = 111,00

RZEDNE
PROJEKTOWANE

-116,18
-116,72
116,72
-116,93

RZEDNE
KONSTRUKCY

34

-116,51 |-116,66
16,57

116,57

-116,39 |116,77
-116

116

-116,51 |-116,66

RZEDNE TERENU

116,45 - 116,34

ODLEGLOSCI

—6,66 1 115,82
—4,22

-3,50

-2,50 o

-2,37

2,19 116,39
2,50 A

3,50 A

4,59 A

5,32 115,79

PIK: 761,90
Skala 1:100/100

Bl o 1STN= 1,07m2
Bl v PROU= 0,11m2
] Nasyp = 1,65m2
[ wykop = 0,08m2

P.P. = 110,00

RZEDNE
PROJEKTOWANE

116,34
116,40
116,34

-115,94
-115,89

RZEDNE
KONSTRUKCY

-116,07 |116,45

-116,19
116,02

116,25
-116,19

RZEDNE TERENU

116,07 1-11823 116,40

ODLEGLOSCI

—12,51 115,21
-0,31 1 116,07

0,00 7
2,15 116,02 1

—4,10

-3,50

-2,55

-2,50

2,50

3,50

4,17 A

10,87 - 115,44




